Solutions to Test on Applications to Differentiation October 25, 2012

6= Jot - 3(" e"

Ve ﬁ, %o — zcg)e =30 -3¢

. oW = -
m;‘.e %

(b Spd # €52, Nz 0-2(2) =2l w

& Uz30-4y =0
bo~9kz0 5 9=bo 3 (=0 -

S\C
)y
¥

@) ik bosslint &2 % =T
d= 30(7%’3¢‘j‘_' (7.3‘.)" = |oo

X%- ¢x -1 =0
FRY (Y -4l0)-2= -2 <o
F(9) =(Y-4B)-22 13 >0

3 oot behden 2 o 3.
Remember-... _F(x ) FO) =X3__ l‘x,z

X, = X, - T

F(x) El) =34

(_7.?-— Q(z)’z -l q

-

Xiz 1 — ey L 3 %

_4(%)-2
- f%:\—%%_ 222 (249)

$’,1




Solutions to Test on Applications to Differentiation October 25, 2012
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